HAA 07.2015

HAFELE

OSKA HSC Waste Bin

2 x 20 Ltr, Base mounted

Cat. No:
503.06.712

- Installation dimensions

- 420 mm -
—~— 40210 mm ——=

BOM List
1

a ~ W N

I
Il '| |E
| | &
o
| || -
o
|| ” 5
f 1 i
1 ]
: |-192mm-| :
I T
] I
I i g
1 1
i |§E
'€ % o
E cigh
¢ ¢¢,‘° 1|8
I+—-1r-—30mm§ |
i I
:+ :l
1! 11
£
£
'+'.
)

Brackets

4 x 16 mm screws
4 x 25 mm screws
4 x 50 mm screws
4 x 60 mm screws

480 mm

480 mm

4 PCS
16 PCS
6 PCS
4 PCS
4 PCS

© 2015 by Héfele Australia Pty Ltd

8 Monterey Road  Dandenong e Victoria

www.hafele.com.au

Subject to Alterations

1



HAA 07.2015

HAFELE

OSKA HSC Waste Bin
2 x 15 Ltr, Base mounted

Cat. No:
503.06.732

- Installation dimensions

420 mm
[ 403 = 10 mm -
} ;
£
| E E
e £
Ha
§ (2]
A |
a
1 =192 mm = 1
] — — I
| 0= = T1«[T )=+
: ! [
| )
] 1
£
: || E g
] I ‘c-’ £
£ NS
] & 8
: J' —e= 30 mm :
: E&ﬁgﬂ' :
] f )
1 1]
£
£
o
2
BOM List
1 Brackets
2 4 x 16 mm screws
3 4 x 25 mm screws
4 4 x 50 mm screws
5 4 x 60 mm screws

=360 mm——*=1
i L
|I "\

 —

4 PCS
16 PCS
6 PCS
4 PCS
4 PCS

—= =—max 14 mm

ot

= 40 mm =

© 2015 by Héfele Australia Pty Ltd
8 Monterey Road  Dandenong e Victoria
www.hafele.com.au

Subject to Alterations

1





